2. B OB K s W (2EERN)

st s TR B EI=T2RDL E SFELE | BENE e g
ARRE ST e kB ek B Mokl | Btsoka | T PAE | R OB it
Bl % |B|%x|B|%x |3 | % |8 |%x|8|% |8|%| % | %
v | : , = = - v
SRR R B AR - 3’ 2 5 6 ‘60 34 25 18 25 8 68 52 8 2 194 122
R TR R, 70 4 21| 13 74 58 32 1 26 9 62 59 8 1 230 159
R - B Sy - SN ~ 7 6 27 19 w01 70 52 23 26 22/ 90 49 19| 6 322 200
EEEERN | -+ — 4E-.- - 19 6 271° 20| 125 66 58] 24 32 11 98 47) 18 7 377 181
TR BEeeteeeecsen 8 3 22 13 112 8| 60 14 381 20 99 58 5 4 337 .198
Ce B @ X
' |AamaE 13 1.6 25 49 309 278 128 147 128 6.1 350 426 4.1 16 1000 1000 °
Esgm= | B =4 30 25 93 81 321 352 130 106 113 56 269 371 34 06 1000 1000
HrvHEBI R = 21| 30 83 95 313 356 151 240 871 110 279 245 59 30 1000 100, 0
* % K| B 4—E 53 38 71| 112 334 364 153 132 8.4 6,1 259 259 4.7 38 1000 100,
‘ - B - 4 23 15 65 51 322 434 178 70 92 111 293 292 14 20 1000 ICDO
: BT AE= ERRET T BER i

; B B B OE o A (GREESY) warme

Lo
S TRE AR TR TR UL A AL 2% | g | gt
8 : KB (=R kil kol - kil B ki B b 8 ,
¥ Blx|B | % |8 |%x|8|x% % % |B|%|8|x|8| %
= [ : )
‘. 3l 2 5 6 60 34 25 18 25 8 63 52 8 2 154! 122
& - < < 1 o 5 4 ¢ 4 1z ul 4 1 a3z
i ) — 1y 1| 12 3 j7 —| & i 28 21| — — 52 26
b — — = = ~ ~ = 1 i - 4 i —~ — 5 2
—_— =] = = -4 44 o = o o = = — 4 4 .
";"j'. : 371359191\:3'(»Mﬁ Eu ....... N Y T il = i oy 4 L 3 1
PR 7 7T WD 1 R — — = — iy 8§ 2 2 1 2 i 2 3§ — — 1 8
? .,._ﬁ/’&%?ﬂvx»\ﬂlﬁVEﬂe% ----------- e e e T e O B O B S | B B I B
AR > W3 £ S5 S —_ - Y - 1| — = = — 1 2@ 1 - 3 -~ 3
L ERBRRS X ABREB=EY 7o — = o H 4 A —H g - - = 7 =
g;;i%%%g/gﬁ;»%?gy“ ....... — - 4 4 2 4 4 4 94 - 44—~ 7 °
» V¥ <y &4 T e T R B I B B s T B B B e —
Pi EEERTIEA Freeeresreeresoceiancrmnes W o~ = o 4 8 4 4 -~ 4 3
: 24 ddd343433443d =
" _ T T T T T Y T
£ BB Y eeeenrerreeenennesesstesennestrtesarenanaas —~ = = — 8 2 1 i ~ = = = 4 8
ey gg,*ﬁ_fﬂ/7§4? .......................... —_ = =, =~ =~ = — —1 — = Y = A 1
, Y messcocnacecionmntrsasioniosnacossonsennseven [ —_ ] — . — ) [P (RN U [N 1 —
L BXARETE BB ITWEA e ~ = < - = 4 4 4 A A~ 2
,:_‘:7 fﬂi»?&%?‘%l?ﬁtﬁﬁ’{? .................. JUE R R IS Gpa— I~ — = =~ 2 — = — .3
i ie BBRBEE 7 5 vemeseerrsesseensmsmssssresesssssaenns — = = Yy 74 i 1 o 4 = 4 g
B SESEE 7 R T BB Peecereerceraensnonsnnne e e e T T S R B i 38 20 — — 3 .
E #/KEE?%@«? ..... ~~ 4 8 17 14 ¢ 4 1 1 1¢ 9 i | s s
E: ,%Mfg m [ serbomseniratanceeiancnronsesnnnsensas e e s e e e T s P s e B i o B -—
oo Rfg= m-h7wf;v7g4?--- ------- ~ = = o 7 9 7 94 = 24~ =<1 —
F“." . _%&7 ................................‘ ...... — - — — —_— — — [ P —) ] ] = =] - -
, ﬁ&/ﬁ%@&ﬁﬁm/i‘ e M B e s W e e s T e e T i e e
. ﬁ-ﬁﬂ E .......................................... —_— — — — — — — —_ — _— ] — —] -
R > P4 - T SR T TR PE PP RAORS SRR S ST —_— —_ — — -— — — — B e ! R —
U BE ) Al ssnsestesene e ssans s sessasssneenenes 2 — ~ oy o oy oy 4 4 3
R Beeerseeeneemseseesssonas evseremcrsseesrasasonn ~ o = < & o qf ] & | & | 6 1 1§ 4

o

-



